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O x%-
. 5x—6=(x—-2)(x-3)
12x — 4x? = 4x(x - 3)
. _
x?—14x+49 = (x - 7)?
@ 3x2 )
+5x-2=(x-2)3x+1)

® 4a?
— 9b2
(2a — 3b)(2a + 3b)
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@D 2x% - 5xy+3y? = (x=3y)(2x—y)
@ ma+ mb—m = m(a+ b)

® 64a + 32ab + 4b* — (3a + 2b)?

@ —4a? + 952 = —(2a + 3b)(2a — 3b)

® x*-5x-6=(x-2)(x-3)
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@ 33 +x2-x=x(3x2+x-1)
@ —x2+25=(5+x)(5-x)

@ 2 +8x+12=(x+2)(x+6)
@ 36x2 + 24xy + 4y? = (6x — 2y)?

® 6x2+5x+1=(2x+1)(3x+1)
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@® x*-25=(x+5)(x-5)

@ x> +2x-8=(x+4)(x-2)
® 2% +Tx+3 = (2x+ 1)(x+3)
@ 4x% 4+ 4x-15= (x—3)(4x +5)

® x?-14x+49 = (x-7)?
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@ ab+1)+(b+1)=(a+1)(b+1)

@ (x+y)?-2(x+y)+1=(x+y-1)>
@ X2+dx+4-y>=(x+y+2)(x-y+2)
@ (x+2y)% - (3x—2y)% = —8x(x—2y)

® (x-3)2+2(x-3)-8=(x+1)(x-6)
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@D —6ax — 2bx = —6x(a + 2b)

@ ax®>+ay=a(x+y)

® alx+y)-b(x+y)=(x+y)—ab
@ —4x% +16y? = —4(x + 2y)(x - 2y)

® x(2a-
b) + 2y(2a — b) — z(2a — b) = (2a — b)(
-b)(x-2y)—z
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@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
® —x2+1=(x+1)(-x-1)
@ x2-Tx+12= (x-2)(x—6)

® 10x% 4+ 23x - 21 = (x4 3)(10x = 7)



© da?>-b?>=(a+b)(-a+b)
© (a+b)?-4ab = (a-b)?

@ 4ab-1= (2a+1)(2b—-1)
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@ 972 = (100 - 3)% = 100% — 2 x 100 x 3 + 3% = 9409
@ 51%x4.9=(5+0.1)(5-0.1) =52 -0.12 = 24.99

® 3012 = (300 + 1)? = 3002 + 2 x 300 x 1 + 12 = 90601
@ (V2+ V3)(V2- V3) = (V2)2 = (V3)? = -1

® (- VI0- V2)(VI0 - V2) = (V10)2 - (V2)2 = 8
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@O x? 4+ 14x+49 = (x = 7)?
@ 16x% — 48x + 36 = (4x —6)?
® 9x% - 16 = (9x —4)(x + 4)
@ x2-2x-15=(x+5)(x-3)

® 5x2—14x-3 = (5bx+1)(x = 3)
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@D —6ax — 2bx = —6x(a + 2b)

@ ax®>+ay=a(x+y)

® alx+y)-b(x+y)=(x+y)—ab
@ —4x% +16y? = —4(x + 2y)(x - 2y)

® x(2a-
b) + 2y(2a — b) — z(2a — b) = (2a — b)(
-b)(x-2y)—z
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@ 4a? - 2ab = 2a(a - b)

@ x? 4 20x—100 = (x + 10)?
® —x2+1=(x+1)(-x-1)
@ x2-Tx+12= (x-2)(x—6)

® 10x% 4+ 23x - 21 = (x4 3)(10x = 7)
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© da?>-b?>=(a+b)(-a+b)
© (a+b)?-4ab = (a-b)?

@ 4ab-1= (2a+1)(2b—-1)
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@ 972 = (100 - 3)% = 100% — 2 x 100 x 3 + 3% = 9409
@ 51x49=(5+0.1)(5-0.1) = 52 - 0.12 = 24.99

® 3012 = (300 + 1)% = 300 + 2 x 300 x 1 + 12 = 90601
@ (V24 V3)(V2- V3) = (V2)? - (V3)2 = -1

® (=VI0 - V2)(VI0 - v2) = (VI0)2 - (V2)2 = 8
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@ 3x% + 18x +27 = 3(x + )

@ 9x% - 24x+16 = ([ |x—4)?

® 222 - 72 =2(x+ 6)(x - 2x[_))
@ 6x2-17x+12 = (2x—-[_])(3x-4)

® x2-20x+91=(x-7)(x=[ )
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@ 22 +4dx+2=2(x+[_ ]2
O 2-6x+9=( Jx-3)2
© 3x24+6x-9=3(x+3)x-| ]
® 6x2-x—-1=(2x-[ DBx+1)
@ 2-Tx+10=(x-5)(x-[_ )
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7]
@ 2 +5x-14=(x-2)(x+a)
© 2x%—4x—16 = 2(x + b)(x + 2)
©® (x—c)(x+c)=x2-16 (c > 0)
® -3x%+30x-75 = -3(x + d)?

@ 332 +8x-3=(3x—1)(x+e)

@D -18 ® -4 3 5 @ 13
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1=

=1
@ 2 +2x-15=(x-3)(x+a)

© 2x2 +10x+12=2(x+ 3)(x + b)

© (x+c)(x-c)=x>-9 (c>0)

@ -2x2 - 16x — 32 = —2(x + d)?
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D 2x2—x-6=(2x+3)(x-2)

@ 2x2—xy-3x—-y*+3y=(2x+y-3)(x-y)
® 22 +4xy 44y = (x +2y)°

@ 9x% —6xy+y2 = (3x—y)°

® 9x2 + 25y = (3x + 5y) (3x — 5y)
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@ 2x24+x-1=2x+1)(x-1)
© 4x* -y = (2x +y) (2x-y)
© a®>+2ab+b*>—a-b=(a+b-1)(a+Db)

® 4x2 +4x+1=(2x—1)°
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23. ax2-18x+b 7t x+1 3 2x—11 2 YroldolA o, ¢ + b 9] LS
“Fotoigt,

R Eiatb=



24. 2 -Tx+A7bx-2 2 o] Bold of, A 9] ghs F-5hd?

D 6 ® 5 3 3 @ 0 »B -9



25. the [ okl AR 47} BHE ST

® 922 +6x+1=(_ h+1)

@ 222 +7x+[ |=(@2x+1)(x+3)
@ 16x% - 9y? = (4x+[_ly)(4x - 3y)
@ 4x% -12x4+9 = (2x -] )2

® 2] k+3=(x-1)(x-3)
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3x? — 14xy + 8y? = (ax + by)(cx +dy) & I, U] %
Fat+b+c+do #FA2(H a>0,c>0)

D -2 @ -1 ® 0 @ 2

A4 a,b,c,d
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@ 6x2-x-15

O (2x+5)°-3(2x+5)+2
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